[a 1]

H7]

Qy=2 © xy=10

©®y=x*-1 @y:%+2x—3
X

@ y=-2x>+3x+1

=
c
e

-




By



3.

x Zofl tiafl A2 Aol Jeins n%: v2H?

@ y=-2¢ @ y= 32 ® y=-3x%



® (2,0

_2)

® (0, 0)

@ (0, 2)

(-2, 0)
@






= f:R—> R

A a o 27 (

A () = 1o - a1 olEk f(20) = 24 -1
o R

2 4%)



OGS y = ax? o DT T (7h o 22 o o F 17
(h o] Ao Heg AL

=

N0
=
()
@ y= —2ax* @ y=-ax? ® y = 2ax?
@ y= —%a)c2 ®y= %CDCQ



o=
—=

__,1__4 u]—d:o_ah q ]—EL nﬂoﬂo]

ol i, ¢ o gk= stofz=t.

o

]_

W %

—



y = —3(x-2)% o]t}.

ol
0
of

ol

syatet.

o y o] Zte =

J¥ar

=
)

® x>2 2 HYA x 9 Fho]



10.

2
5

o]z} y=-a(x-p)?-q < 2H7}

O 19} 22 W, aq, p, ¢ J FIE2 YL

gre 7129

®a>0,p>0,g<0 @ a>0,p>0,g>0
®a>0 p<0,g>0 @ a<0, p=0,g<0

® a<0, p>0,g=0




